
+TWJSNSLXY�OJY�X�QLJX�FK�[TWJX�Y�OQJ[JWFSI�W��-5-�5WTܪQGJPQ�ISNSL� 

9�OJY�XPFQ�GJYFQJX�[JI�GJXYNQQNSL�TL�PFS�PZS�GJXYNQQJX�N�KTWGNSIJQXJ�RJI�KTWउWXTU[NXSNSLJS� 

'JXYNQQNSLJW�ZIQJ[JWJX�N�L^RSFXYNPHJSYWJY�IJS�����TL�����RFWYX�-�GJLLJ�IFLJ�RJQQJR�PQ�����TL��� 

'*89.1�+47*3.3,89�/�9.1�+47࣮7845;.83.3,*3� 
IJS�����TL�����RFWYX����� 

3Z�PFS�IZ�GJXYNQQJ�,+�0�LJ�'ZLY-Y�O�RJI�QTLT�YNQ�[TWJX�KTWउWXTU[NXSNSL 

8\JFYXMNWY� 
PW����� 
+उX�N�LWउ�TL�IFWP�SF[^� 
8YW������������������� 
��������TL��������� 
XFRY�=8�-�====1� 

9-XMNWY� 
PW����� 
+उX�N�LWउ�TL�IFWP�SF[^� 
8YW����������������TL�����
XFRY�=8�-�=====1� 

-TTINJ�R��Q^SQउX 
PW����� 
+उX�N�LWउ�TL�IFWP�SF[^� 
8YW��=8�-�====1 

-TTINJ�R��Q^SQउX� 
N�JPXYWF�LTI�P[FQNYJY 
PW����� 
+उX�N�IFWP�SF[^� 
8YW��=8�-�===1 


